Tunisian Knit Stitch Decreasing:

Like increases, decreases in TKS are worked in the forward pass only.

To decrease, insert your hook through the middle of two adjacent stitches, with the hook emerging
at the back as normal. YO and draw up a single loop. This counts as a single decrease and the loop

Is kept on the hook the same as the other sts.

The two stitches are worked through at once. Finish the forward pass as usual.




Below is the completed forward pass, with the decrease stitch highlighted.

Do a Return Pass as always.



